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I'm late for the school today. |

went to bed late last night.

| were going to bed
earlier last night.

| go to bed earlier last
night.

® | had gone to bed
earlier last night

| am going to bed
earlier last night.
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Anwar wasn't very well

qualified --------- but had a

lot of experience.

e academical
academic
academy

academically
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Saba won't get a toothache ---
------- she eats a lot of

sweets.

even if
unless
® provided that

If
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A healthy --------- creates a

hardv racictant +n dicaaca
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A healthy --------- creates a

body resistant to disease.

rewarding

patient

history

e diet

ol phiellg AUl iG]

Choose the correct answer
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cuphellg el Jigul
Choose the correct answer

from A, B, COR D to complete

the following indirect question.

Do you speak English?

e |f | have spoken
English.

f 1 has spoken English.
If | speak English.

If | spoke English.
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When | met my teacher, |

shook -------- with him

gently.

e hands

talk

a joke

a deal
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Solving puzzles is believed ----

----- the brain active.

® keeping
was keeping
kept

to keep

(4 Hiellg salall Jiguwll
Saba won't get a toothache ---

——————— she eats a lot of

sweets.
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moments slid,

Perhaps his mate sat listening

long,
And listened longer than | did.

Find a word in the above lines

that means "fast" ?

slid
e swift
mate

sunny
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If you want to be -------- . you

need to get a good education.

e successful
success
succeed

successfully

pine gilll JIgull

If you send money to charity --
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If you send money to charity --
----- you will make a

difference to a lot of lives.

Huc golill Jigul
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pirc golill Jigawl
Read the following lines from
A Green Cornfield carefully

then answer the question that

follows:

And as | paused to hear his

song

While swift the sunny

moments slid,

Perhaps his mate sat listening

long,
And listened longer than | did.

Find a word in the above lines

that means "fast" ?
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Choose the correct
punctuation marks from A, B, C
OR D to complete the

following sentence.

In business ----- when you
meet someone for the first
time ---- it's polite to shake

hands.
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It used to be thought that ----

e the Earth be flat.
the Earth is flat.
the Earth were flat.

the Earth was flat.

| wish | —=========-- more time

in the office.
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| wish | ==========- more time

in the office.

spent

® had spent

spend

was spending

pite gualull Jiguwll

If you want to be -------- . \you

naard tn cgat a annd adiiFatinn
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The three universities
with the most
undergraduates are
the University of
Jordan in Amman.

Students can attend
one of ten public
universities, or one of
nineteen private
universities.

e Alarge number of
Jordanian students
choose to study at
these institutions, as
well as foreign
students from all over
the world.

These are

sz Hleminsina =il sl ee s
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My father wanted to know

who ---------- me the laptop.

give
gives
IS giving

® had given

pahae il iG]
Could you explain -------- |

can solve this Maths problem?
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Could you explain -------- |

can solve this Maths problem?

why
® how

how much

it

e AL JIgul
Choose the correct

punctuation marks from A, B, C
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ulTll JIGull

The cookies don't taste as

good as they look.

The cookies =~========m==-

they look.

e taste worse than
taste bad
taste better than

taste good

pibilell JiGull
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Read the following text

carefully then answer the

question that follows:

Students can attend one of ten
public universities, or one of
nineteen private universities. A
large number of Jordanian
students choose to study at
these institutions, as well as
foreign students from all over
the world. These are
undergraduates studying for a
first degree, or postgraduates
studying for a Master’s degree,
a PhD or a higher diploma. The

three universities with the



o2 11:05 @@y O N 1.3K/s A Orange JO

three universities with the
most undergraduates are the
University of Jordan in Amman,
Yarmouk University in Irbid and
Al Balga Applied University in
Salt.

Write down the sentence
which indicates that not only
Jordanian students attend the

Jordanian universities.

The three universities
with the most
undergraduates are
the University of
Jordan in Amman.

Students can attend

'‘alala’ n'F +nh ™ IL‘\I;I‘-
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Read the following text

carefully then answer the

question that follows:

Speaking a foreign language, it
is claimed, improves the
functionality of your brain in
several different ways.
Learning new vocabulary and
grammar rules provides the

brain with

beneficial ‘exercise;, which
improves memory. As well as
exercising the brain, it is
thought that learning a new
language also presents the

brain with unique challenges.
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thought that learning a new
language also presents the
brain with unique challenges.
These include recognising
different language systems
and ways to communicate

within these systems.

The writer states that learning
new language presents the
brain with two challenges.
What are these two

challenges?

provide the brain with
beneficial ‘exercise,
which improves
memory

1'rr
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provide the brain with
beneficial ‘exercise,
which improves
memory

® recognise different
language systems and
ways to communicate
within these systems.

present the brain with
unique challenges.

improve the
functionality of your
brain in several
different ways.



02 11:04 @@ ¥y O N 0K/s A Orange JO
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When you are tired it's easy to

lose your ------=------ .

® concentration
concentrate
concentrative

concentrated

gualwll J1ganll
The local economy is

overwhelmingly -------- on oil
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The local economy is
overwhelmingly -------- on oil

and gas extraction.

depending
® dependence
dependent

depend

eylull J1guwll

| === I'd known more
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| == I'd known more

about this company.

® wish
had

If

If only

ol Jigull



w2 11:04 @8 | = O 0K/s A Orange JO

]l Jigawll
Read the following text

carefully then answer the

question that follows:

My job now involves going to
important conferences and
seminars around the world.
When a person speaks in
English at a conference, | listen
to what they say through
headphones. | then translate
into Arabic while the speaker is

talking. | give the

translation through
headphones to other people at
the meeting. This means that

anyone in the room who
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headphones to other people at
the meeting. This means that
anyone in the room who
speaks Arabic can understand

what people are saying.

Quote the sentence which
shows that Fatima's job
includes going to meetings and

workshops around the world

My job now involves
going to important
conferences and
seminars around the
world.

| give the translation
through headphones
to other people at the
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conferences and
seminars around the
world.

| give the translation
through headphones
to other people at the
meeting.

¢ \When a person speaks
in English at a
conference, | listen to
what they say through
headphones.

This means that
anyone in the room
who speaks Arabic can
understand what
people are saying.
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did quite a lot of checking for
them- you know, checking
their calculations. When | went
back in the summer, | was in
the sales department. My job
was to follow up web
enquiries, and send out further
information to possible clients.
enjoyed it, and | wouldn't

have had that opportunity if |

hadn't done the work

experience first.

Ricky Miles' job in the sales
department required doing
two things. What are these
two things?
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two things. What are these
two things?

check different
people's calculations.

provide financial
products — savings
and pensions.

e follow up web
enquiries, and send
out further
information to possible
clients.

watch different people,
- what they are doing.
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Choose the correct
punctuation mark from A, B, C

OR D to complete the

following sentence.

It was too hot to go to the
beach yesterday ------- if only

it had been cooler.
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Choose the correct answer
from A, B, COR D to complete
the following impersonal

passive sentence.

People believe that English is
the most widely spoken

language.

s believed to be the
most widely spoke
language.

s believed to be the
most widely speaks
language.
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s believed to be the
most widely spoke
language.

s believed to be the
most widely speaks
language.

s believed to be the
most widely have
spoken language.

s believed to be the
most widely spoken
language.
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AL 1G]
Read the following text
carefully then answer the

question that follows:

It was a company that
provides financial products -
savings and pensions, mostly.
At first | just ‘'shadowed’
different people, - watching
what they were doing. Then |
did quite a lot of checking for
them- you know, checking
their calculations. When | went
back in the summer, | was in
the sales department. My job
was to follow up web

enquiries, and send out further



